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1 Compute the indicated products.
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2 Find X and Y, if
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(1) X+Y=[:’r U} and X—Y=[ U}
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(i) 2X +3Y = and 3X+2Y =
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Solve the equation for x, y, z and ¢, if 2 { j| + 3[
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It x +y = , find the values of x and y.
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: } , find the values of x, v, z and w.
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8 Itf A= and I= , find k so that A- = kA — 21
4 -2 0 1

1|ISWK/X/Dept Of Mathematics/Work Sheet/Matrix-3/J01JI




2 0 1
9 Find A’-SA+6Lif A=|2 1 3

1 -1 0

1 0 2

10 | If A=|0 2 1/, provethat A®—6A2+7A+2[=0
2 0 3
1 2 3]

I 1 1f A=/3 =2 1. then show that A*—23A - 401 =0
(4 2 1]
3 V3 2] 2 -1 2

12 | If A= “/_ and B= , verify that
4 2 0 1 4

i) (A =A,
(i) (A+B)Y=A"+DB,
(iii) (kB) = kB’, where k is any constant.

-2
13 |If A=| 4 |,B=[1 3 —6], verify that (AB) = B’A".
5

14 | Express the matrix as the sum of a symmetric and a skew symmetric matrix.

2 2 4
B=|-1 3 4
1 -2 -3
15 -1 2 3 -4 1 -5
IfA=] 5 7 9land B=| 1 2 0/, then verify that
-2 1 1 13 1
(i) (A+B)Y=A"+B, (i) (A-B)=A"-PB

16 | For the matrices A and B, verify that (AB)" = B’A’, where

1 0
i) A=-4 |,B=[-1 2 1] @) A=|1|,B=[1 5 7]
3 2
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